
 

Start with a differential equation

y f x y and a known value
of the solution yCa b
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Divide interval o D into four equal
pieces
step size 4 0.25
of internal n 4



H of internal n
Sequence of points
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1 2 y
1 3,93
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Note can already state x coords

of each of these points
Xo O
X 25
X2 5

3 75
Xy

Route start Go so
slope at Con

Sabsttle y 3 2x 0.5g

y 3 2 o OS 1 2.5
find Ix n
X z 0.25
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Y It C25 2 s
9 I 625
is 0.25 I 625

Round start x is 1025,1 625
slope at 10.25 1.62
plug into y 3 Sx OSy
y 3 2C25 0.54 625

y e
1 687,5 It

92 9 th k

92 1.625 62574.6875

92 2.046875
42,94 65 2.0468757

Round start ish 92.046875
stope substitute

y 3 2657 0.512.096875
y 0.9765625J h
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93 2.0468751 2 9765625

93 2.29 015625
Gg C 75 2.291015625

Round start 675,2291015625
slope am

y 3 2675 0.512.2910156257

Y 0.3544921875

94 9 th k

94 2.2910156251 1.2D 3544948g

94 2.379638672
xyyy l237963867DJ
ya 2.37963867
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